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1. Write the chemical formuia for the following: _ H SCg
a. @ LH._;Ou / H 5&{ — Hz_(\" U\-\
b. zinc nitrate _@ Li_ @\ - Zn (NU’;)
C. magnesium phosphate MQ“ bU/% — Mgy, / vO »f\
d. sodium Sicarbonate NE) ol CO; il MJM 5 Cux
e. zinc sulphate Zhy %ulgz_ - &ﬂb‘-)bz
f. nickel (1) hydroxide sl OH” = Ny (OH )
c’@fw'@ﬁﬁﬁf@\) b i ClL- =  Aucl
h. chromium (Ill) sulphate Cr 2 S0 " — Cr z(fo‘f>5
. mercury (Il) nitrate quf o & T Hfj(ND’Joi
j. copper (ll) Bicarbonate C,EJ/L = C_C\!) -57""\ =) C’M(Dg
2. Write the chemical name for the foliowing:
a. CuSO, A SO\_;” = Copper (H) bulphcak
. b. Na;CO,3 Sedivige 0o allongle
c. Fe(OH), = OH > T @) ny drpx e
d. Fe(NOs), rad B, s e CTIT Y. o fvz:, fe
e. Al(OH); Procinuaina la um/m,x,(/f—(
f. MgSO, Mz faw Sicd i Sufldmc'—:
g. NaNQ; SCC(\ wina nirite
h. KOH Potees, umn wo( vox, e
i. KoCrOy %D*” SSSwna (,,l/llft;lfmcﬂ—?.
j. Ca(NO,), Cﬂ(w an v e
He @&

3. Indicate the number of atoms of each element. ; '

- ) 7 - —
(& HgSO; H..r,, S:l o= 2 50 Mgm/{@Q.L)
(B Fe(CIOY, =1 o= e / 18 (@
o
c. LiOH L.:i/_ Ged, Hapu
d. Pby(CQs)0 %:,;zlxc_:%go:{
- | e Mn(OH)z 4&4;{1" | ('j =

L me@l\ O’\L\,VMK Lead (\\f) Cewvlomng e
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Naming Compounds

#. 2 Element Compounds:

a) Scfz
by Agl
¢y MgCl2
d) Zn0
e) Al203

B. Metallic Elements with 2 Coml;g;

a) Cud
b) PbS
t) Pbl2
d) Auz203
e) Sn02

C. Cogmpounds with Polyatomic lons

a) KCi0z

b) Mg{OH)2

¢) Cr{NO3)3
d) Mn{S04)

e) Coz{P03)2

D. Figure it out for yourself!t!!

a) FePO4

b) Fez203

¢} AuCiz

d) Collz

e) (NH4q}2C03
f) AT(OH)3
g) SnD

h) MgCoz

i) NH4O0H

i) HgCr207
k) FeSD4

1) AgCl

m) Pb02

n) Ba{HCOz)2
o} Cuzd
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